
     

  
  

 
  

  
  

 
 

 
 

 
 

     

 
 

     

 
 

     

    
 

 
  

 
 

     

 
 

     

 
 

     

    
 

 
  

 
 

     

 
 

     

  
 

     

    
    

 
  

    
 

 
  

 
 

     

 
 

     

 
 

     

    
 

 
  

 
 

     

 
 

     

STAAR Grade 4 Math Answer Key 

Item 
Position 

Item Type 
TEKS 

Alignment 

Maximum 
Number of 

Points 
Correct Answers(s) 

Reporting 
Category 

Readiness or 
Supporting 

1 
Multiple 
Choice 

4.3.6.B 1 D 3 Supporting 

2 
Multiple 
Choice 

4.1.2.B 1 C 1 Readiness 

3 
Multiple 
Choice 

4.2.4.D 1 D 2 Supporting 

4 Multiple Select 4.1.2.A 2 
A, C 

See Appendix 1.1 
1 Supporting 

5 
Multiple 
Choice 

4.2.5.A 1 C 2 Readiness 

6 
Multiple 
Choice 

4.3.8.C 1 A 3 Readiness 

7 
Multiple 
Choice 

4.2.5.B 1 D 2 Readiness 

8 Multiple Select 4.1.3.D 2 
A, D 

See Appendix 1.2 
1 Readiness 

9 
Multiple 
Choice 

4.3.6.D 1 C 3 Readiness 

10 
Multiple 
Choice 

4.4.9.A 1 C 4 Readiness 

11 
Multiple 
Choice 4.3.5.D 1 A 3 Readiness 

12 Drag and Drop 4.2.4.E 2 
625 ÷ 25 = 125 

See Appendix 1.3 
2 Supporting 

13 Inline Choice 4.1.2.G 2 
79, 4, 100 

See Appendix 1.4 
1 Readiness 

14 
Multiple 
Choice 

4.2.4.A 1 A 2 Readiness 

15 
Multiple 
Choice 

4.1.3.B 1 D 1 Supporting 

16 
Multiple 
Choice 

4.2.3.F 1 B 2 Supporting 

17 Multiple Select 4.1.2.B 2 
B, E 

See Appendix 1.5 
1 Readiness 

18 Multiple 
Choice 

4.2.5.A 1 B 2 Readiness 

19 Multiple 
Choice 

4.4.10.A 1 A 4 Supporting 



    
 

 
  

    

 
 

 

 

  

 
 

     

 
 

     

 
 

     

    
 

 
  

 
 

     

 
 

     

 
 

     

  
 

  
 

 

  

 
 

     

 
 

     

 
 

     

 

   
 

 

20 Drag and Drop 4.2.4.C 2 
20, 10, 5 

See Appendix 1.6 
2 Supporting 

21 Inline Choice 4.3.6.C 2 

A right triangle, a 
right angle and two 

acute angles. 

See Appendix 1.7 

3 Supporting 

22 Multiple 
Choice 

4.2.4.F 1 C 2 Supporting 

23 Multiple 
Choice 

4.3.8.C 1 C 3 Readiness 

24 
Multiple 
Choice 

4.4.9.A 1 D 4 Readiness 

25 Multiple Select 4.3.7.C 2 
A, D 

See Appendix 1.8 
3 Readiness 

26 Multiple 
Choice 

4.1.3.D 1 B 1 Readiness 

27 Multiple 
Choice 

4.2.4.H 1 D 2 Readiness 

28 Multiple 
Choice 

4.1.2.G 1 B 1 Readiness 

29 Equation 
Editor 

4.2.3.E 1 

7 

11 

See Appendix 1.9 

2 Readiness 

30 Multiple 
Choice 

4.3.8.A 1 A 3 Supporting 

31 Multiple 
Choice 

4.4.10.E 1 A 4 Supporting 

32 Multiple 
Choice 

4.3.5.D 1 B 3 Readiness 

STAAR Grade 4 Math 
Appendix 

1.1 
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A stor e sold 2,222 items in one day. 

Which statements about t his n um ber are t rue? 

Select TWO correct answers. 

~ The value of t he digit in t he tens place is lo the value of t he digit in t he hundreds place . 

O The value of t he digit in t he hundreds place is 10 t imes the v alue of t he digit in t he thousands place . 

~ The value of t he digit in t he t housand s place is 10 t imes the v alue of t he digit in t he h undreds place . 

D The value of t he digit in t he hundreds place is lo t he value o f the digit in the tens place . 

0 The value of t he digit in t he ones place is 10 t imes the value of t he digit i n the tens p lace . 

The model show n is shaded to represent a fract ion . 

I I I I I I 
Which fract ions are less than t he fract ion represented in t he model show n? 

Select TWO correct answers . 

□ 10 
10 

D .1 
5 

1.2 



 

 

 

 

 

 

 

 

 

 

Mr. Hanson picked 625 apples from h is orchar-d. He put the apples int o 5 cont a iners. Each container has t he sam e 
num ber of apples in it. 

Create an equation t hat could be used to show how m any apples are in each container. 

Move t he correct answer to each box. Not al l answers wil l be used. 

62"> . "> 625 + 5 3,125 

i 625 -:- 5 i = i 125 i 
~----------------·· : _________ ) 

Create a m ixed num ber equ ivalent to the decim al by selecting the correct answers from the drop- dow n m enus. 

,------------ I 4 ~1 
79.04 = I 79 ~ )-;:===========~ 

[ 100 ~1 

In which of t hese does t he d igit 2 have a value 2 x 0.1? 

Select TWO correct answers. 

0 One and two hundredths 

r'J Forty-one and two tenths 

D 2 .1 

D 2.0 

r'J 10.26 

1.3 

1.4 

1.5 

1.6 



 

 

 

 

 

 

Complete the area model to represent the equation 23 x 15 = 345. 

Move the correct num ber to each box. Each number may be used m ore than once. Not all num bers will be used. 

iJ[i ~[!i 1 ,;]r Jn ~ ~1~ 

fill 3 

~ 

IT11------+-------++-+-t 

A t r iangle has one pair of perpendicu lar sides and two acute angles. 

Is the triang le an acute, obtuse, or r ight triangle? 

Com plete the sentence by selecting the correct answers from t he drop-down menus. 

The triangle is [ a right t r iangle ~] because it has [ a r ight angle and t wo acute angles.~] 

Which ang les appear to have a measure of 1600? 

Select TWO correct answers. 

rJ 

D 

1.7 

1.8 



 

 

D 

1.9 
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11

 

 

 

he num ber of each t ype of book in Jaxon's bookshelf is shown. 

Myste ry Q Q 
ComicsQQQQ 
SportsQQQQQ 
0 = 1 book. 

What fract ion of the books are mystery or sports books? 

Enter your answer in the space provided . 

0000 @ 
I 2 3 

4 5 6 

7 8 9 

() a 
a 
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